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QUESTION 1

Which one of the following statements is true of storage appliance SnapVault backup?
A. The volume is the basic unit ofSnapVault backup.

B. The file is the basic unit forSnapVault backup.

C. The directory is the basic unit forSnapVault backup.

D. Theqtree is the basic unit for SnapVault backup.

Correct Answer: D

QUESTION 2

What user-controllable security mechanism is built into OSSV?

A. QSM access list modifiable viasvconfigurator

B. Contents inside a file called access and located in OSSV /snapvault/etc

C. Via/etc/hosts.equiv file

D. MD5 based authentication betweenSnapVault primary and secondary, with changeable password

Correct Answer: A

QUESTION 3

In a Fabric Attached Metro Cluster, disk ownership by a node is determined by

A. where the FC HBAs for disks connect into the switch, and by where the disks connect to the switch banks.

B. the types of disks used in the cluster.
C. the ports on the FC HBA.
D. the slots in which the FC HBA is installed.

Correct Answer: A

QUESTION 4
Which are three valid data protection solutions? (Choose three.)
A. SnapVault to Volume SnapMirror

B. SnapVault to Volume SnapMirror to SnapVault
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C. SnapVault to Volume SnapMirror to Volume SnapMirror
D. VolumeSnapMirror to SnapVault

Correct Answer: ACD

QUESTION 5

Which command creates a new SyncMirror aggregate, letting Data ONTAP select the disk drives?
A. aggr create aggrX-d 12

B. aggr create aggrX-m 12

C. aggr mirror aggrX-m 12

D. aggr mirror aggrX-n 12

Correct Answer: B
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